@ 5@ U/ions OF Expaﬂen//a/ g?(fcudlons

Re call et £00) = a , a5 feprSen)r, expovienhral 3,@»}{4 %4

_X
fx)= a , 8> - decqj ..x
x
bxp Solue e exponen frod eguu./L\‘On
22X X s
@ _"f_ (25) = 2_:_C_7 =3 tz_r;) - 5 =) ln(ZG):th
7 / 2X é“"—f | \
7.) 2X In25 = "5
(S 22 2.X \ns =S
Y X
5 = S\ Yx s =5
oz YR B
\
= X T
% =g 4

@ 3X 3X 3X
K - 216 = g = (B)2F) lng = In(8)(27)

D 3X In8 = g+ In2?

3 3
3x 2 = |nd 4 a3

‘7X ]H?_ = Z\nz +3)n3

Awm ﬂlH'L
¥ = 4 4L W3
STUDENTS-HUB.com - 3 3 nz Uploaded By: Jibreel Bornat
2%
@ 26 coo = 10,000 g = 'Z.Qﬂaf’/ é’-x =) 52’(__ 25
Noges - de-
X g \ X
5 = = 2 Ins5 = lni >le»rf-—\hs-\m_
M 2\n g
x — \V\ e \9\7-
25 2\Wn6
- Wt
- : I



@ ’%(x.{_z) - 2 =) 52' ——

25 = X472

(23 =x]

(5D In(X42) xhax =\n(x+12)

In X(x+2) = W (x¥+12)

X“4XxX—12=0

(X+‘/)(X“3) =¥

A(X42) = X +12

2 - = = e
X42% = X +12 Ether xry=0 =2 xX=-4X

><2+>< = o  X-3 =©o :>1X23://
@ "'é’x—-’gtfﬂz):@ (x-2) g o B L
4 Y y s &
——2-(——— :)0 K~2 2 B
lgf T gy& ) L 2
X= *

.. = X=T Ve
x~3

v Lol x=-vg

,<

X :()(-'2)()(-}3) rﬁjeC('COl
R~ x"+3x-zx-—6 Smee. X>o

@ ]n;( —-—-]H?. = 3

STUDENTS-HUB.com

Uploaded BysJibreel Bornat

X 3 \
,""{--\ﬂe n a :]nz)
3 meohs
B =
,?:,,c a=b
p =
% =2 €



EXp  Soppose [ demand  for (‘-ommadﬁ 9 s given by o)
F-:_ Yo 2’% Lherve p Is  the prnce n  dollears

(O A+ what price per unil will the demancl e?uaj y unils?
-4 ok
when 2= = f=lo 2 - Yo 2 ____‘,0_1;:_%3
2
= Pz 10 dollars

(20 How many onis will be demanded iF the prite is 2o

- % - P . -’%
3 z __>____._2 _).L-:_Z
20 = Yo 2z =~ yo ~ o
~%
\hl{_ = W2 2 )= e = —-% o
O — ‘1 ~ _
o d %:\V\'L
o 2

éjp 5'-’/7/056- H’l(’, C/emano( 'p""C—J‘l\O"I 'ﬁf a wmmacof',ﬁ s 6\‘\;&4 bj

X

P= 100 e here p is the price per vnik when x units are
salc
M) )fmcl e total revenuve —.’i.) -5
X =

RExy =PI = (\oo e

ggDEMOP Hre JOH fevenuve if 20 unikg were Clemq“decdedeJfPh‘ecﬂ

NTS-HUB.com 20 Uploaded By: Jibreel Bornat
R(36) = oo 5
= oo (30) ¢
-3

o (300 o) (0.0498)
- 9.4 dollars



